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Exam Date 30/11/2021
Exam Time : 12:30 PM - 2:00 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Select the number from among the given options that can replace the question mark
(?) in the following series.

144, 289, 484, ?, 1024
Ans X 1.625
% 2.725
< 3.676
o 4.729

Question ID : 65497833819
Status : Answered
Chosen Option : 4

Q.2 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

_b_ppp_ap_pb_p_
Ans X 1.bgbpbp
/X 2.pbgpbg
« 3.pabpqp
K 4.pappgb

Question ID : 65497833822
Status : Answered
Chosen Option : 3

Q.3 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the

statements.

Statements:
All laptops are monitors.
All monitors are TVs.

Conclusions:

1. All monitors are laptops.
2. Some TVs are monitors.
3. No monitor is a laptop.

Ans & 1. Only conclusion 2 follows
25 2. Only conclusion 1 follows
#< 3. Only conclusion 3 follows

/< 4. Both conclusions 2 and 3 follow

Question ID : 65497833810
Status : Answered
Chosen Option : 1
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Q.4 Two different positions of the same dice marked with the letters F, G, P, Q, R and S are shown .

Select the letter that will be on the face opposite to the face having the letter *G’.

Ans X 1. R
2 F
X3 Q
x4 S

Question ID : 65497833803
Status : Answered
Chosen Option : 2

Q.5 Select the option that is related to the third term in the same way as the second term is
related to the first term.

PRINT : RNTPI :: LEMON : ?
Ans X 1.ELOMN

X 2.LNEMO
& 3. EONLM
X 4. MLNOE

Question ID : 65497833814
Status : Answered
Chosen Option : 3

Q.6 In an imaginary mathematical system, P denotes subtraction, Q denotes division, R
denotes addition and S denotes multiplication. All other rules of mathematics are the
same as in the existing system. What is the value of the given expression?

106 R115Q23S7P 19
Ans X 1.154

X 2.87

X 3.45
o 4122

Question ID : 65497833802
Status : Answered
Chosen Option : 4

Q.7 Select the option that is related to the fourth number in the same way as the first
number is related to the second number.

54:9::7:7
Ans X 1.56
X 2.62
o 3.42
X 4.60

Question ID : 65497833801
Status : Answered
Chosen Option : 3
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Q.8 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the one that is different.

Ans o 1. HAA
#< 2. UHH
< 3.OFF
4. 1XX

Question ID : 65497833817
Status : Answered
Chosen Option : 1

Q.9 Select the figure from among the given options that can replace the question mark (?) in the following series.

R T R
) s
Ans
x| ]
il
@
x 2 l
| 1
3.
1
&4

Question ID : 65497833824
Status : Answered
Chosen Option : 4

Q.10 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

5127
1119 25
265579

Ans X 1.22
X 2.17
X 3.20
o 4.18

Question ID : 65497833811
Status : Answered
Chosen Option : 4
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Q.11 In a certain code language, 'go went gone' is written as ‘da ma dof’, 'he had gone' is
written as 'ga dol ma’, and 'he was good' is written as 'na ga ca'. How will ‘had’ be

written in that language?
Ans X 1.ca

X 2.ga
«" 3. dol
X 4.ma

Question ID : 65497833809
Status : Answered
Chosen Option : 3

Q.12 Seven friends, M, N, O, P, Q, R and S, are sitting in a straight line, all facing towards the
north. N is sitting at the middle position. M is sitting between Q and P. Q is sitting to
the immediate left of N. S is sitting to the immediate left of O. M and O are not sitting at

any of the ends. Who is sitting at the right end?
Ans & 1. R

x2.Q
X 3.N
X a.p

Question ID : 65497833800
Status : Answered
Chosen Option : 1

Q.13 In a certain code language, 'REACH' is coded as 85139 and 'SUN' is coded as 264. How
will 'SEARCH' be coded in that language?

Ans o 1.251839
X 2.253819
X 3.258139
X 4.253189

Question ID : 65497833818
Status : Answered
Chosen Option : 1

Q.14 ‘AxB’ means ‘A is the brother of B’.‘A-B’ means ‘A is the mother of B’.‘A+B’ means ‘A
is the father of B’.Which of the following means ‘M is the son of Q’?

Ans X 1. MxR+Q
& 2. Q:MxR
X 3.M:RxQ
X 4. M-R=T

Question ID : 65497833816
Status : Answered
Chosen Option : 2
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Q.15 Select the number from among the given options that can replace the question mark
(?) in the following series.

3, 35,99, 195, ?
Ans o 1.323
X 2.225
< 3.325
< 4.299

Question ID : 65497833823
Status : Answered

Chosen Option : 1

Q.16 Study the given diagram carefully and answer the question that follows.

Postgraduates

‘What is the number of teachers who are NEITHER rural NOR postgraduates?

Ans X 1. 45
&2 85
X3 35
X409

Question ID : 65497833808
Status : Answered
Chosen Option : 2

Q.17 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

GBL, JEO, MHR, ?
Ans X 1.QJV
X 2.0JB
o 3. PKU
X 4. QKW

Question ID : 65497833805
Status : Answered

Chosen Option : 3
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Q.18 When 12 is added to a number, it is equal to 2 times the sum of 4 and the number. Find
the number.

Ans X 1.10
x 2.5
x 3.8
4.4

Question ID : 65497833812
Status : Answered
Chosen Option : 4

Q.19 Seven friends, L, M, N, O, P, Q and R, are sitting around a circular table, with their
backs towards the centre. L is sitting to the immediate right of P. M is not the
neighbour of P. O is sitting third to the left of L. Q is sitting between R and O. Who is
sitting to the immediate right of L?

Ans X 1.N
o 2. M
X< 3.Q
X 4.R

Question ID : 65497833807
Status : Answered
Chosen Option : 2

Q.20 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

> e o

it G 4
1. Ih &8 o

o e &

Ans

EE=TeEs

o 00 O
X2l o

0 @

RS

0 00 @
X3 laae o

o OC> @

S e o

0 b
x4 9330

o> oG &

Question ID : 65497833813
Status : Answered
Chosen Option : 1
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Q.21 ‘Patna’ is related to ‘Bihar’ in the same way as ‘Dispur’ is related to * .
Ans X 1.Nagaland

75 2. Mizoram
75 3. Meghalaya
o 4. Assam

Question ID : 65497833806
Status : Answered
Chosen Option : 4

Q.22 In a certain code language, ‘SPIRIT’ is written as ‘WKMIMG’. How will ‘GLOBAL’ be
written in that language?

Ans X 1.GTYOOX
< 2. GOTYXO
«” 3. KOSYEO
75 4. KSOEYO

Question ID : 65497833815
Status : Answered
Chosen Option : 3

Q.23 Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P

TRIANGLE|

Q
Ans X1 LBEVIMUCTE
X2 LKIVUCTE
X3 JIOUIAAT

v+ JIJOWMAIAT

Question ID : 65497833820
Status : Answered
Chosen Option : 4

Q.24 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

i. Declaim
ii. Decline
iii. Decisive
iv. Declare
v. Decode

Ans X 1., v, ii, iii, v
2200, i, v, i, v
< 3. v, i, v, iy
o 400, v, i, v

Question ID : 65497833821
Status : Answered
Chosen Option : 4
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Q.25 gelect the option in which the given figure is embedded (rotation is NOT allowed).

Ans

<1

3.

Question ID : 65497833804

Status : Answered

Chosen Option : 3

Section : Part B General Knolwedge and GenerdlFAwaréness

Q1

Ans

In November 2020, who among the following inaugurated the ‘Lilawati Awards’, which
is an initiative of All India Council for Technical Education?

75 1. Rajiv Kumar

X 2. Amit Shah

25 3. Harsh Vardhan

«# 4. Ramesh Pokhriyal ‘Nishank’

Question ID : 65497833832

Status : Not Answered

Chosen Option : --

Q.2
Ans

Which of the following compounds contains an ionic bond?
X 1.CHCI3

" 2. NaCl
<3Ny
X 4.CH,

Question ID : 65497833846

Status : Answered

Chosen Option : 2
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Q.3 Manika Batra is famous as an Indian
Ans X 1. basketball player

75 2. swimmer
¥ 3. table tennis player
75 4. athlete

Question ID : 65497833840
Status : Not Answered
Chosen Option : --

Q.4 Which among the following monuments is in Rajasthan?
Ans X 1. Ujjayanta Palace

" 2. Hawa Mahal
#< 3. Bara Imambara
/< 4. Bibi Ka Magbara

Question ID : 65497833827
Status': Not Answered
Chosen Option : --

Q.5 Through the Royal Titles Act (1876), Queen Victoria assumed the title of 'Kaiser-i-Hind"
or Queen Empress of India. Who was the Viceroy of British India when Queen Victoria
assumed the title 'Kaiser-i-Hind'?

Ans X 1.Lord Canning
#< 2. Lord Ripon
#< 3. Lord Lansdowne
«# 4. Lord Lytton

Question ID : 65497833835
Status : Not Answered
Chosen Option : --

Q.6 Which of the following types of goods is defined as ’the goods that are identical,
similar or comparable to another product, in the eyes of the consumer, such that they
can either fully or partly satisfy the same needs of the consumer’?

Ans X 1. Capital goods
#< 2. Intermediate goods
" 3. Substitute goods

/< 4. Consumer goods

Question ID : 65497833825
Status : Not Answered
Chosen Option : --

Q.7 India and Bangladesh are the leading producers of
Ans o 1. jute

25 2. millet
75 3. coffee
X 4. tea

Question ID : 65497833843
Status : Not Answered
Chosen Option : --
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Q.8 Which of the following was NOT the theme for Union Budget 2020-21?
Ans X 1.Develop a Caring Society

75 2. Aspirational India
75 3. Economic Development for All

«” 4. Education for All

Question ID : 65497833834
Status : Not Answered
Chosen Option : --

Q.9 Pressure is equal to thrust divided by
Ans o 1. area

25 2. mass
< 3. Force
X 4. length
Question ID : 65497833829
Status: Answered
Chosen Option : 1
Q.10 became the first Indian to win the Fed Cup Heart Award 2020 for Asia/Oceania

zone, for her successful return to the court post motherhood.
Ans X 1. Ankita Raina

#< 2. Riya Bhatia
¥ 3. Sania Mirza
75 4. Rutuja Bhosale

Question ID : 65497833844
Status : Not Answered
Chosen Option : --

Q.11 Which of the following statements about the Equal Remuneration Act of 1976 is
INCORRECT?

Ans  # 1. It applies to certain parts of India.
25 2. Itis a Central Legislation.
#< 3. It provides for prevention.of discrimination against women at workplace.

75 4. It provides for.payment of equal remuneration to men and women, in the matter of
employment.

Question ID : 65497833839
Status : Not Answered
Chosen Option : --

Q.12 Malala Yousafzai is the youngest Nobel Peace Prize Laureate, having being awarded
the prize when she was only 17 years old. In which year was she awarded this Nobel
Peace Prize?

Ans X 1.2016
X 2.2019
< 3.2018
o 4.2014

Question ID : 65497833830
Status : Not Answered
Chosen Option : --
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Q.13 The Ministry of Information and Broadcasting announced as the new
President of the Film and Television Institute of India in September 2020.

Ans X 1. Mahesh Bhatt

25 2. Anupam Kher

#< 3. Gajendra Chauhan
" 4. Shekhar Kapur

Question ID : 65497833841
Status : Not Answered
Chosen Option : --

Q.14 Which of the following grasslands are present in North America?
Ans o 1. Prairies

75 2. Steppes
75 3. Pampas
75 4. Downs

Question ID : 65497833826
Status : Answered
Chosen Option : 1

Q.15 How many members represent Himachal Pradesh in the 17th Lok Sabha as of 22
November 20207

Ans X 1.12
X 2.6
o 3.4
X 4.8

Question ID : 65497833831
Status : Not Answered
Chosen Option : --

Q.16 Nizam-ul-Mulk Asaf Jah, the founder of Hyderabad state, was the most powerful
member at the court of the Farrukh Siyar.

Ans  # 1. Mughal Emperor
#< 2. Gupta Emperor
#< 3. Khalji Emperor
#< 4. Rajput Emperor

Question ID : 65497833838
Status : Not Answered
Chosen Option : --

Q.17 World Pneumonia Day is observed on:
Ans X 1.18 December

X 2.5 September
«# 3. 12 November
75 4. 15 October

Question ID : 65497833848
Status : Marked For Review
Chosen Option : 3
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Q.18 Who among the following is the founder of Fit India movement?
Ans X 1.Kiren Rjiju

75 2. Amit Shah

75 3. Narendra Modi

«" 4. Suparno Satpathy

Question ID : 65497833833
Status : Not Answered
Chosen Option : --

Q.19 India completed the 50th anniversary of bank nationalisation programme in
Ans  # 1.2019

X 2.2020
X 3.2017
X 4.2015

Question ID : 65497833849
Status': Not Answered
Chosen Option : --

Q.20 What is the maximum number of electrons that can be accommodated in the ‘N’ shell
of an atom?

Ans X 1.24
x 2.8
X 3.4
o 4.32

Question ID : 65497833828
Status : Answered
Chosen Option : 4

Q.21 The language of administration under the Delhi Sultans was:
Ans X 1.Urdu

" 2. Persian
25 3. Turkish
25 4. Sanskrit
Question ID : 65497833837
Status : Not Answered
Chosen Option : --
Q.22 Jallikattu is a held mainly in Tamil Nadu.

Ans X 1. kite flying festival
#< 2. candle lighting festival
«# 3. bull taming festival
#< 4. buffalo fighting festival

Question ID : 65497833842
Status : Not Answered
Chosen Option : --
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Q.23 Who among the following Australian cricketers won the Allan Border Medal 20207
Ans X 1. Cameron Green

75 2. Glenn Maxwell
«# 3. David Warner
75 4. Pat Cummins

Question ID : 65497833845
Status : Not Answered
Chosen Option : --

Q.24 Which of the following movements against the British has been INCORRECTLY
matched with its leader?

Ans X 1. Paika Rebellion - Bakshi Jagabandhu
¥ 2. Pagal Panthi Revolt - Tirot Sing
75 3. Kol Uprising - Buddhu Bhagat
75 4. Ahom Revolt - Gomdhar Konwar

Question ID : 65497833847
Status : Not Answered
Chosen Option : --

Q.25 A kharif crop used both as food and fodder is:
Ans X 1. jowar

7< 2. bajra
" 3. maize
X 4. wheat

Question ID : 65497833836
Status : Marked For Review
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 With a uniform speed. a car covers a distance in 6 hours. Had the speed been increased by 10 knv/h, the same distance
could have been covered in 5 hours. The distance covered by the car is:

Ans 1. 300 km
<2200 km
<3250 km
X4 350 km

Question ID : 65497833858
Status : Answered
Chosen Option : 1

Q2 ‘What is to be added to 35% of 440 so that the sum may be equal to 42% of 5507
Ans > 1. 70

X2 75

3. 77

X4 65

Question ID : 65497833856
Status : Answered
Chosen Option : 3
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Q.3 When the speed of a train is decreased by 25%, it takes 42 minutes more to cover the same distance. What is the time
(in hours) taken by the train to cover the same distance with its actual speed?

Ans

s 2
10
1

x21ls
4

X31E

x4 52
3

Question ID : 65497833871
Status : Answered
Chosen Option : 1

- e compound interest on a certain sum for ears at o per annum 1s interest compounde early). e
Q.4 Th pound i i for 2 yi 10% p isT651 (i pounded yearly). Th

simple interest on the same sum for double the time at half the rate of interest per annum is:

Ans  X1. F600
X 2. 3630
X3 F520
« 4. 620

Question ID : 65497833862
Status : Answered
Chosen Option : 4

Q.5 AandB undertake to do a job for T6,000. A can do it in 10 days and B can do it in 12 days. With the assistance of C,
they finish the work in 4 days. How much should C be paid for his work?

Ans 1. 2,400
x 2 1,500
x3 T1,400
¢ 4 T1,600

Question ID : 65497833857
Status : Answered
Chosen Option : 4

Q.6 A sum of money is distributed among P, Q and R in the ratio 13 : 17 : 25, respectively. If R gets T6,800 more than Q,
then the difference between P's share and Q's share is:

Ans 1. 33,400
X2 33,200
X3 33,600
X 4 T4.400

Question ID : 65497833859
Status : Answered
Chosen Option : 1
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Q.7 A man borrows Z15.000 at 15% p.a. compound interest. At the end of every year. he pays 22,500 as part repayment.
How much does he still owe after three such instalments?

Ans @ 1.314,131.87
x2 %13,175.66
x3 312,150

X4 .%12,64250

Question ID : 65497833873
Status : Answered
Chosen Option : 1

Q.8 When a plot is sold for T34.080. the owner loses 20%. At what price must that plot be sold in order to gain 20%?
Ans X 1. 50,120
« 2. 351,120
X 3. 341,120
X 4. 51,020

Question ID : 65497833861
Status : Answered
Chosen Option : 2

Q.9 25 and 750 are the highest conunon factor and the lowest common multiple of two numbers, respectively. If one of the

two numbers is 75, find the other number.
Ans 1. 250

X2 75

<3 50

<4 25

Question ID : 65497833863
Status : Answered
Chosen Option : 1

Q.10 The average of five consecutive even numbers is 36. If the next five consecutive odd numbers are included, then what is

the average of all the numbers?

Ans 1. 30
X2 41.25
« 3. 40.5
X4 3775

Question ID : 65497833851
Status : Answered
Chosen Option : 3
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Q.11 The average weight of 24 boys is 7 kg more than the average weight of 28 girls. If the total weight of 24 boys is 1080
kg, then the total weight of 28 girls is:

Ans X 1. 1074 kg
v 2 1064 kg
X3 1054 kg
X 4. 1046 kg

Question ID : 65497833854
Status : Answered
Chosen Option : 2

2 119 af8+3+3§+x—4£=Gg.whatisthevalueofx?

Ans
x12
3
2 -
5
x3 2
g
x4 8
7

Question ID : 65497833865
Status : Answered
Chosen Option : 2

Q13 T height of a right circular cylinder is 14 cm and its curved surface is 264 em?. Its volume is:
A @1 396 cm®

#2290 cm?

#3366 cm?

X4 252 cm®

Question ID : 65497833874
Status : Answered
Chosen Option : 1

Q.14 An article is marked at T700. If it is sold at a discount of 35%, then the selling price becomes Z times of its
cost price. What is its cost price (in ¥)?

Ans X1 273

X2 455
X3 291
4 420

Question ID : 65497833868
Status : Answered
Chosen Option : 1
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Q.15 ]
The value 0f5+4iof—5 +E+—B x 11—1><3+ 1101‘E 18:
5 5 16 3 15 5 4 4 4 5

Ans 61

Question ID : 65497833870
Status : Answered
Chosen Option : 1

Q.16 Ravi borrowed ¥1,800 at 6% per annum and 32,800 at 7% per annum simple interest for the same duration and paid
32,736 in all as interest. His friend Shiv borrowed 32,500 at 8% per annum simple interest for the same duration. How
much (in T) Shiv had to pay to clear off the loan?

Ans 1. 3,900
X 2. 4,500
« 3 4,300
X 4. 4,000

Question ID : 65497833853
Status : Answered
Chosen Option : 3

Q.17 32 workers working for 9 hours a day can finish a work in 14 days. If each worker works for 8 hours per day, how many

workers are required to finish the same work in 18 days?

Ans 1.3
X2 24
X3 26
o 4 28

Question ID : 65497833867
Status : Answered
Chosen Option : 4

Q.18 The single equivalent discount for three successive discounts of 8%. 12.5% and 20% is:
Ans X1, 40.5%

+ 2. 35.6%

X3 35.4%

X 4. 36.5%

Question ID : 65497833855
Status : Answered
Chosen Option : 2
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Q.19 35 litres of a mixture contain milk and water in the ratio 3 : 2. If 4 litres of this mixture be replaced by 4 litres of milk,
then find the ratio of milk to the water in the new mixture.

Ans X1 4:7
*2.325
W3 5:2
X437

Question ID : 65497833872
Status : Answered
Chosen Option : 3

Q.20 What will be the least number of marbles with Seema, if she can arrange them in rows of 6, 10, 12 and 15 marbles each,

and the number is also a perfect square?

Ans  X'1. 625
2. 900
X3 225
X 4400

Question ID : 65497833850
Status : Answered
Chosen Option : 2

Q.21 A student got 160 marks and required 50 more marks to secure the minimum 35% marks to pass. Find the maximum
marks.

Ans 1. 600
X2 750
X 3. 800
X 4500

Question ID : 65497833864
Status : Answered
Chosen Option : 1

Q.22 31,26,672 is divided between A and B in the ratio 7 : 9. The difference between the share of B and that of A (in %) is:

Ans  X'1. 18,354
X2 21,317
« 3 15,834
X 4. 13,485

Question ID : 65497833852
Status : Answered
Chosen Option : 3

Q.23 Tpe perimeter and area of a rectangular sheet are 40 m and 72 mz, respectively. The length of the diagonal will be:

Ans X1 14m
X2 12m
¥ 3 16m
X4 10m

Question ID : 65497833860
Status : Answered
Chosen Option : 3
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Q.24 A sold an article to B at 20% profit. B sold it to C at 12% loss and C sold it to D at 25% profit. If B had a loss of 372,
then D would have bought the article for:

Ans 1. T660
X2 3396
X3 T504
X4 T528

Question ID : 65497833869
Status : Answered
Chosen Option : 1

Q.25 A man bought some eggs at T60 per dozen and bought another lot of the same number of eggs at T50 per dozen. If he
gained T930 after selling all these eggs at T70 per dozen, what was the total number of eggs bought by him?

Ans  X'1. 54 dozens
X 2. 48 dozens
« 3. 62 dozens
X 4. 70 dozens

Question ID : 65497833866
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 Select the option that is closest in meaning to the underlined idiom/phrase in the given
sentence.

Losing my job was a blessing_ in disguise because | got to spend more time with my
family.
Ans X 1.task that appeared difficult at first but became ‘easy later

75 2. ajoyful event that made everybody happy
¥ 3. event that seemed bad at first but résulted imsomething good later

#< 4. a good thing that happened only ence

Question ID : 65497833886
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate meaning of the given idiom.
To lose one’s head
Ans X 1. To be happy
75 2. To take responsibility
«# 3. To become upset or angry
#< 4. To be robbed

Question ID : 65497833883
Status : Answered
Chosen Option : 3
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Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Mr. Ghosh is senior / than Mr. Sen, / so he must be / promoted first.
Ans X 1.Mr. Ghosh is senior

75 2. s0 he must be

" 3. than Mr. Sen

75 4. promoted first

Question ID : 65497833877
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate synonym of the given word.
Brutal

Ans X 1. Considerate

2< 2. Cheerful

«" 3. Cruel

#< 4. Courteous

Question ID : 65497833878
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Trees can live in an extremely long time — tens, hundreds, even thousands of years.

Ans X 1. can live with an extremely long time
# 2. can live for an extremely long time
#< 3. can live in an extremely longest time

25 4. No substitution required

Question ID : 65497833884
Status : Answered
Chosen Option : 2

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A dummy used to display clothes in a shop window
Ans 1. Mannequin
75 2. Supermodel
7< 3. Statue
25 4. Model

Question ID : 65497833894
Status : Answered
Chosen Option : 1
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Q.7 Select the most appropriate synonym of the given word.
Perforate

Ans 4 1. Pierce

25 2.Fold

7< 3. Tear

< 4. Crack

Question ID : 65497833893
Status : Answered
Chosen Option : 3

Q.8 Select the correctly spelt word.
Ans  4# 1. Schemes

#< 2. Malnourised
#< 3. Recognisable
75 4. Intigrated

Question ID : 65497833879
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.

It is important to with the police and listen to their advice.
Ans X 1.cope

25 2. combine

75 3. concern

¥ 4. cooperate

Question ID : 65497833887
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate option to fill in the blank.
Nobody seemstobe _ in visiting museums.
Ans X 1. attracted
75 2. anxious
#< 3. obsessed
" 4. interested

Question ID : 65497833882
Status : Answered
Chosen Option : 4
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Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

He will not get admission in a good college unless he will work hard.
Ans X 1. would work

25 2. No substitution required

«" 3. works

X 4.is working

Question ID : 65497833875
Status : Answered
Chosen Option : 3

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

Able to be eaten
Ans X 1. Decibel

#< 2. Scribble
#< 3. Hobble
& 4. Edible

Question ID : 65497833876
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option to fill in the blank.
The __ of directors gave their approval for the project.
Ans X 1.team
" 2. board
#< 3. bunch
#< 4. band

Question ID : 65497833880
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate ANTONYM of the given word.
Remorse
Ans " 1. Indifference
25 2. Guilt
25 3. Anger
#< 4. Denial

Question ID : 65497833889
Status : Answered
Chosen Option : 2
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Q.15 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Emma agreed / thinking of an excuse / to get Paul / out of the house.
Ans 4 1. thinking of an excuse

75 2. Emma agreed

75 3.to get Paul

25 4. out of the house

Question ID : 65497833892
Status : Answered

Chosen Option : 1

Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Why do you think / why John / refused to / marry her?
Ans 4 1. why John

#< 2. marry her

#< 3. Why do you think

7< 4. refused to

Question ID : 65497833888
Status : Answered
Chosen Option : 1

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Owing money to someone
Ans 4 1. Indebted

75 2. Exchanged

#< 3. Loaned

#< 4. Donated

Question ID : 65497833890
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Vanilla ice cream with chocolate sauce is my favourite.

Ans X 1. with chocolate sauce are

«" 2. No substitution required
75 3. with chocolate sauces are

75 4. with chocolate sauce is being

Question ID : 65497833885
Status : Answered
Chosen Option : 2
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Q.19
Ans

Select the INCORRECTLY spelt word.
25 1. Omission

25 2. Remission
«" 3. Comission
75 4. Submission

Question ID : 65497833891
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate ANTONYM of the given word.

Ans

United
75 1. Bonded

#< 2. Linked
" 3. Separated
25 4. Together

Question ID : 65497833881
Status : Answered
Chosen Option : 3

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)
to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
75 1.raises

75 2. gains
«” 3.rises
75 4. extends

Question ID : 65497833896
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)
to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans 4 1. necessity

< 2. demand

< 3. urgency

< 4. essence

Question ID : 65497833897
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)
to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans # 1.improve

5 2. develops
< 3. alters
5 4. reforms

Question ID : 65497833898
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans  # 1. benefits

< 2. credits
25 3. virtue
25 4. merit

Question ID : 65497833899
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the temperature (1) during the summer season, many people choose to use air-
conditioners to keep their homes and offices cool. Air-conditioners, which were once regarded
as a luxury, have now almost become a/an (2) . The air-conditioning system not only
cools the indoor air down but also filters out harmful pollutants. This helps reduce dust, pollen
and allergens inside the home and (3) the quality of air inside the house or room.
However, along with the (4) , there are some disadvantages. A major disadvantage is
that if the filter inside the air-conditioner is not cleaned and maintained regularly, it (5)

to problems such as allergic colds, fever, headaches and dryness of the skin.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans  # 1.could lead

2. led
/< 3. leads
< 4.is leading

Question ID : 65497833900
Status : Answered
Chosen Option : 3

Section : Part D Hindi

Q1 e foraet vafaarn 32
Ans X 1. ®HA

o 2.9

X 3.7

X4q@

Question ID : 65497833917
Status : Not Answered
Chosen Option : --
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Q.2 3y 7Iq TRy T 98 U TG IR o 1S Ffe 31 afE BIS JR 78 2, O ;s e 7 &

TAR TEI(1)/ 60T Fagah! BHI(2)/ frerm BT 3resT vy #1(3) B FfE T §1(4)
Ans 1.2
X 23
X 3.4
X 4.1

Question ID : 65497833911
Status : Not Answered
Chosen Option : --

Q.3 e adft are 21 BT T B
Ans X 1. qRIdIfSe®

o 2. RarfSes

X 3. WAifv®s

X 4. Raifvs

Question ID : 65497833904
Status : Not Answered
Chosen Option : --

Q.4 fg Ty famea) & A frafafEd arier ¥ fag T 21 & a7 Hifey-
S5 gea & awar 781 §
Ans 1 e
X 2. frfg
o 3. fFm
X 4. T

Question ID : 65497833913
Status : Not Answered
Chosen Option : --

Q.5 fy My are A Yw@ifed G i afawenfia # & forg gaifie suga faee &1 ag7 &3 af @
Hfaeefia e Bl 3raadwdr 78l &, al faeed fBt agea Y smaraewar 78 & &1 o &
Ans X 1. f5HT geeTe bl 3TTeIeaehd] TEl 2l
o 2. AT ol
< 3. H@
< 4. W ful

Question ID : 65497833910
Status : Not Answered
Chosen Option : --
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Q.6 Ry my arw & fisw wr ¥ e 32
BB ¥ T BRiEd ¥ v fem
Ans X 1 FRT
X 2. eEmi A
X 3. v foam
4 BRIGH T

Question ID : 65497833916
Status : Not Answered
Chosen Option : --

Q.7 Ft adt arer org BT T B
Ans 1. Tmilg

X 2. mifg

X 3.7mfa

X 4. Tififg

Question ID : 65497833903
Status : Not Answered
Chosen Option : --

Q8 fw vor Y g B ¥ oy walfds Juge oz #1 a7 #

I BT A AER FAA a___ #
Ans X1 wew
WK =
X 3. 3t
X 4 ¥@w

Question ID : 65497833909
Status : Not Answered
Chosen Option : --

——
Q9 Ry g arey ¥ Ywifea Es B wfawenfia s & fay afftes suge faee o1 ow@ &) IR
wferenfia ¥ B saeawar 781 &, aY Aeew fdt aqena B smaeawar 78 § &1 o &)
3R ge o §, FRmne) g fiea #1
Ans X 1. RO BT Hell fietar €l
X 2. {3t geeTa B 1T TE &1
X 3. Ry &Y wor firerd €1
o 4. FiRory &t wor fredt 21

Question ID : 65497833905
Status : Not Answered
Chosen Option : --
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Q.10 BuR wTg FR 341 FeRR ®1 3w 3ref e Hifer-
Ans X 1 fgaE®Er

X 2. 3ymcrféra i g

o 3. a1 waeT v BT

X A, Sfarg 7€ &

Question ID : 65497833919
Status : Not Answered
Chosen Option : --

Q.11 ‘3ia Areft Qv wera? o e avef &-
Ans X 1 gmifda gmr

o 2. wfoerd g

X 3. 9% g

X 4. fifga g

Question ID : 65497833915
Status : Not Answered
Chosen Option : --

Q12 Ry g area ¥ Yaifea @s B wlaenfia & ¥ foy affie suge e o1 w7 a3 ok
wferenfia #33 6t saeawar 781 §, aY v Rt agera S smaeawar 78 & &1 v B
P8 we e ¥ fipdse A @ 3 9 R orer A o} 359 Wy @en Bt g 1
Ans 21 WIS TS
X 2. fat geera B AT eaddT T8
2< 3. a9 g A 3wy
X 4. A T8 A W 3G WY

Question ID : 65497833906
Status : Not Answered
Chosen Option : --

Q13 fer vorr Bt gfd @ ¥ forg waifties sugam oz @1 97 &1

sporFAmMEaTE_____ T
Ans X 1 ulfifs
X 2. ot
X 3. %emt
4. cErt

Question ID : 65497833901
Status : Not Answered
Chosen Option : --
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Q.14 {2y 71y 2rez ¥ WATARIT 2reZ FT TaT BY

ATt
Ans X 1 wfde

2.0
X 3.5”g
X 4. <afd

Question ID : 65497833908
Status : Not Answered
Chosen Option : --

Q15 fer e 61 gfd F ¥ forw waffie swgw org &1 o &1
yemaftaed____ wwdt i

Ans X 1 W
& 2.5
X 3. wdarn
X 4 &t

Question ID - 65497833920
Status : Not Answered
Chosen Option : --

Q.16 Ry erz 37 A -

R

Ans o 1. 3R
X 2. vafem
X 3. ynfa
X 4. yyanfa

Question ID : 65497833912
Status : Not Answered
Chosen Option : --

Q17 g my e ¥ / Frafofaa areaien & fog v o o1 agT Sifeg-
3 321 3 ! faeaRTaTa R AT

Ans X 1 Zemndt
2.2
X 3. gfter
X 4. feargerdt

——a

Question ID : 65497833914
Status : Not Answered
Chosen Option : --
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Q.18 g5 wReys Wifea erg &1 wE faww aamgy-

Ans

X 1. 3caas
X 2.3fw

o 3. IS
X 4.3q

Question ID : 65497833918
Status : Not Answered
Chosen Option : --

Q.19

Ans

e wrq arerier ¥ ferg v ez difoig-
i 318RY BY TGAT-FAGEAT STar B

X 1. wds

2. WER

X 3. 39

X 4 fRer

Question ID : 65497833902
Status : Not Answered
Chosen Option : --

Q.20 fy 7y arer 1 aE W 1A B fored BE R 31 AR PE IR 7 8, A I R A ¥ g
a1 319 A (1)) o B T B S o (2)/ fege R E? (3) B R T8 § (4)

Ans X 1.4
2521
%33
& 4.2
Question ID : 65497833907
Status : Not Answered
Chosen Option : --
——
Comprehension:

Q21 rerier ¥ fiera zerr (1) ¥ forg waffie sugew ez grm-

Ans

fer g merier ¥ A 5 2reg g g 1w B A fw faasedt Bt weraar & Raw et A gfed s 7 s

et & foig watfie suge fasea &1 a7 )

ORISR A THEARTHAE & gRI Ag-2mE - fag w a1 (1) fosam| gl Sepfd @1

(___ #3z, o, wyfe 3n1fE Ter ¥ gereliary ¥ 39 Wpld & amanfcias iR arfoie uer Y
() #r 3k R wma s sl wega fhv rraiane & (4) J fegait ¥ aoet

wwpld & 3rcfia iR vl W amRen stk &1 (5)____ g3

SubQuestion No : 21

X 1w
X 2. 9@R
« 3. =R
X 4. 9ErR

Question ID : 65497833922
Status : Not Answered
Chosen Option : --
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Comprehension:

feg g mrier ¥ A B 2rez g g MY #) AR XY et Bt warar F Raw et A gfed ) w@S
e & foig watfte suga fase o1 ag7 &

g ¥ AR’ % gRT 3-2me-wwTd fag wd & (1) fasam gt wepfa @t
(2 &g, orw, wfd 3nf ver ¥ goreliars A 39 Wpla & 3manfde ik arafSis e Y
@) Y 3R gAR A % el W g1 TRRaaE’ % (4) & fagait ¥ arweft
wwpld 3 arcia iR vl w smRen stk &1 (5)___ g3

SubQuestion No : 22

Q.22 wrerier ¥ fea v (2) ¥ forg waifies suge oz grm-

Ans X 1 3R

o 2 3R
X 3.3gr
X 43R
Question ID : 65497833923
Status : Not Answered
Chosen Option : --
N —
Comprehension:

fog g mrier ¥ A 5 2rex g g MY #| A Xy fAaseat Bt warar F Raw wemt A gfef o) v @S
et & foig watfte sugead fase o1 a7 &)

oriter X THaRanTT’ % gRT AG-oTe-THd fg ud @1 (1) fasam) ATt wepfa w1
(___ &g, ome, wyfe 3mfE Ter €1 gereflars ¥ 39 Wpha & amanfcies ik amifoie uar Y
(3 &t 3R guR w5 3neef v el TwaRanma & (4) @ fegail F 3ot
w¥pfa 3 arcfta iR wfdsa W ameen 3R T 7 (5) Bl

SubQuestion No : 23
Q.23 rerier ¥ feam werm (3) 3 oy waifie Juge erg grm-
Ans X 1 wEr
X 2. wgan
X 3. 7oA
o 4.8

Chosen Option : --

Question ID : 65497833924
Status : Not Answered

Comprehension:
fog g merier ¥ A 8 2rex g Gy MY #| A X fAasedt Ht warar ¥ Raw wemi A gfef o) vds
et & foig watfte sugen fase &1 a7 &)

GRS A THERANAE’ % gRT dg-2a - fag uv o1 (1) fasam gl Sl &t
(2 g, ore, wyfe anif ver §) goreflars ¥ 30 Wpha & amanfcies ik arfoie e Y
@) &Y 3R FAR A B 3rreef wegd Tyl aRan & (4) J fegali ¥ arorit
wepfa 3 arcfta iR widsa w ameen 3R T 7 (5) el
SubQuestion No : 24
Q.24 werier ¥ e worr (4) 3 forg watfies sy o B
Ans X 1,:{:]:[.11:{:{
X 2 fq@mawa
o 3. TST-ueA
X 4. faea-areT

Question ID : 65497833925
Status : Not Answered

Chosen Option : --

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Comprehension:

fog o merier ¥ A 35 2z ger ey MY ¥ A Ry et Bt wrar ¥ Raw wemt F gfed o) wdw
et & foig waffte suge faser o1 a7 &

ordters ¥ IraRanE’ & R AG-ore-HwTd fowg wd a7 (1) fasam gt wepfa @t
(2___ g, ome, wyfet 31fE Ter §) gerellary A 39 Wpha & amanfcias ik arfoie g Y
(3 &t 3R guR a8 3l v el wraRanme & (4) & fagait ¥ arweft
wepfa 3 arcfta iR wfdsa w e 3R T 7 (5) 2l

SubQuestion No : 256
Q.25 rerier & e zerr (5) 3 forg waffie sugew ez gm-
Ans X 1 fa=r
X 2.30R
o 3. ¥R
X 4. 7@R

Question ID : 65497833926
Status : Not Answered
Chosen Option : --
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